
SAP ABAP table ROIJ_SHIPSHORE_IO {ship shore comparison input/output str.}

ROIJ_SHIPSHORE_IO

CLIENT [CLNT (3)]

VEH_ID [CHAR (10)]

PEG_ID [CHAR (20)]

DIFF_VOL_UOM [UNIT (3)]

BADI_IMPL_NAME [CHAR (20)]

OIGV

CLIENT [CLNT (3)]

VEHICLE [CHAR (10)]
 ROIJ_SHIPSHORE_IO-VEH_ID = OIGV-VEHICLE 

0..N

0..N

OIJ_PEG

CLIENT [CLNT (3)]

NOMTK [CHAR (20)]

NOMIT [NUMC (10)]

PEGTYPE [CHAR (2)]

PEGID [CHAR (20)]

 ROIJ_SHIPSHORE_IO-PEG_ID = OIJ_PEG-PEGID 0..N

0..N

SXC_EXIT

IMP_NAME [CHAR (20)]

EXIT_NAME [CHAR (20)]

FLT_VAL [CHAR (80)]

 ROIJ_SHIPSHORE_IO-BADI_IMPL_NAME = SXC_EXIT-IMP_NAME 
0..N0..N

T000

MANDT [CLNT (3)]

 ROIJ_SHIPSHORE_IO-CLIENT = T000-MANDT 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 ROIJ_SHIPSHORE_IO-DIFF_VOL_UOM = T006-MSEHI 

0..N

0..N


